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Abstract

The polarized Hydrogen-Deuteride (HD) target is developed mainly for the study
of ¢ meson photoproduction on the proton and neutron. Using the polarized target,
one can measure double polarization asymmetries to study ss-content in the nucleon.
We produced a polarized HD target for the first time in 2008. After the aging time
of 53 days at 17 Tesla and at 14 mK, the polarization degree (P) and the relaxation
time (7}) of the hydrogen (H) and deuterium (D) in the HD were measured by using
the NMR method as shown in the Table.

After 53 days aging Pg Pp
41.443.1% 13.1£1.9%
Ty of H Ty of D Staying time

IBC (0.3K, 1.08T) 2546£380 17414£167.6 about 3 months
SC (1.2K, 1.08T) 276.6+22.9 302.6+28.6 3 hours
TC (4.2K, 0.15T) 147.3+£3.8  47.8+5.5 0.5 hours

The polarization degrees measured are much lower than those expected from the
thermal equilibrium state of the aging condition. Non-linear relation between the
NMR signal height and the polarization degree is considered to be the main source
of the low polarization degree. The relaxation time in the SC and TC condition are
found to be long enough for the need of staying time during the transportation of the
HD target. The relaxation time in the IBC condition is also long enough to produce
the other new polarized HD target for replacement in continuous experiments. We
plan to start production of HD and move it to SPring-8/LEPS and carry out a
performance check by using circularly polarized photon beams in 2010.



Contents

Introduction

1.1 Motivation . . . . .. . L
1.1.1 Strangeness content in the proton and neutron . . . .. ... ... ... ..
1.1.2 Identification Exchange Particle . . . . .. ... .. ... ... . ...

1.2 HD Target Overview . . . . . . . . . . o e
1.2.1 HD Target at Other Laboratories . . . . . . . . .. ... ... ... .....
1.2.2 HD target at RCNP . . . . . ... ...

1.3 LEPS Experimental Setup . . . . . . . . . . ... ...
1.3.1 SPring-8 . . . . . .
1.3.2 Photon Beam . . . . . . . ..
1.3.3 Target and Spectrometer . . . . . . . . . ... ... .

The PHYDES System

2.1 Polarization Mechanism . . . . . . . . . . . ...
2.1.1 Theoretical Polarization . . . . . . ... .. .. ..
2.1.2 Polarization Method . . . . . . .. ...

2.2 Polarized Target Production . . . . . . .. .. .. L L
2.2.1 Target Cell . . . . . .
2.2.2  Cryogenic and Magnet Systems . . . . . . . ... ... ...

2.3 NMR Polarimeter . . . . . . . . .. .
2.3.1 NMR Principles . . . . . . . .
2.3.2 NMR Hardware and Software . . . . . . . ... ... .. .. ... ......
2.3.3 Extracting the Polarization . . . . . .. .. ... ... 0L
2.3.4 Extracting the Relaxation Time . . . . . . .. ... ... ... ... ..

Data Taking and Analysis

3.1 PHYDESO1 Production and Data Taking . . . . . .. .. ... ... ... .....
3.2 Preparation of Analysis . . . . . . . ... L
3.2.1 Unification of the Signal Amplification . . . . . . .. . ... ... ... ...
3.2.2  Magnetic Field Adjustment . . . . . .. .. ... oL
3.2.3 Data-Position Shifting . . . . . ... ... o
3.2.4 Unification of Bin Size . . . . . . . . . ...
3.2.5 Phase correction . . . . . . .. ...
3.2.6 Background Removing . . . . . .. ..o oo
3.3 Relaxation Time Extracting . . . . . . . . . . . .. . o
3.3.1 Extracting Signal Area by Histogram Method . . . . . . .. ... ... ...
3.3.2 Extracting Signal Area by Model Method . . . . . . . ... ... ... ...
3.4 Polarization Extracting . . . . . . . . .o
3.4.1 Histogram Method . . . . . . . .. .. ...
3.4.2 Model Method . . . . . . . ..

B = = N~ N N SO SO SO S Y

o o ©

10
12
13
13
19
19
20
22
22



v CONTENTS

4 Result and Discussion 41
4.1 Relaxation Time Extracting . . . . . . . . . .. . .. L oo 41
4.2 Polarization Extracting . . . . . . . ... L L 45
4.3 Conclusion . . . . . . . . e e 48
4.4 Discussion and the Future . . . . . . . .. ... Lo o 48

4.4.1 Study of Aging Time . . . . . . . . . . L 48

4.4.2 Lower Polarization . . . . . . . . . . . . .. .. 49

4.4.3 NMR Measurement . . . . . . . . . .. ... 50

4.4.4 TImprovement of D Polarization . . . . . .. ... ... ... .. ....... 50
4.4.5 From Success of Polarized HD Target to Using the Polarized HD Target in

LEPS Experiment . . . . . .. .. . 51

4.5 SUMIMATY . . ¢ o v vttt e e e e e e e 54

5 Summary 55

A Distortion of NMR Signals 59
A.1 Simple simulation . . . . . . ... 61
A.2 Advanced Simulation . . . . . ... 64
A3 Conclusion . . . . . .. 64

B Detail of Relaxation Time Fitting 65



List of Figures

1.1 Feynman diagram of ¢ meson photoproduction. . . . . . ... ... ... ... ... 2
1.2 The unpolarized photoproduction cross section do/dt at E,=2.0 GeV. The solid,

dotted,dashed, and dot-dashed lines give the cross section of VDM, OPE, s5 knock-

out, and uud knockout with strangeness admixture B2=1% and |ao| = |a1| = 1/v2. [9] 3
1.3 The longitudinal asymmetry CBT at E,=2.0 GeV with B2=0%, i.e., the VDM and

OPE (solid lines), 0.25% (dashed lines), and 1% (dot-dashed lines) assuming that

ap = a; = 1/v/2. The phases of ap and a; for (a), (b), (c), and (d) are (+,+),

(—,+), (+,—), and (—, —),respectively. [9]. . . . .. ... ... 3
1.4 Feynman diagram of A(1520) photoproduction. . . . . . ... ... ... ... ... 4
1.5 The relaxation times T{ measured at IPN Orsay as a function of the aging [10]. 5
1.6 Standard LEPS magnetic spectrometer. . . . . . . .. ... ... ... 6
1.7 Standard LEPS magnetic spectrometer. . . . . . . .. ... ... ... ... 7
2.1 Energy level of proton. . . . . . . . .. 9
2.2 The polarization could be estimate by Eq. 2.3 and Eq. 2.4. This figure shows the

Py and the Pp at 14dmK and 17T. . . . . . . . .. . . . . ... 11
2.3 The equilibrium condition at low temperatures requires the p-Hy state with S=0

and L=0. When the o-Hy flip to the p-Hs, the HD protons can exchange energy

with the o-Hy spins by means of mutual spin flips. When the o-H, flip to the p-Ha,

the energy of these two states also generate photon. The photon may flip another

p-Ho to o-Hg, or just generate heat. . . . . . . ... ... ... ... . ... . 12
2.4 The flow chart of target transportation. . . . . .. .. ... ... oL 0L 14
2.5 Distillator. . . . . . .. 16
2.6 Dilution Refrigerator System (DRS) . . . . .. ... ... ... . ... ... .. 16
2.7 Storage Cryostat (SC) . . . . . . . . . 17
2.8 The left figure is the perspective drawing of IBC. The right figure is real picture of

IBC . e 18
2.9 The left side of the figure is TC1, which is mainly for moving the target from the

DRS to the SC. The right side the figure is TC2, which is mainly for moving the

target from the SC to the IBC. . . . . . . . . ... . ... ... 18
2.10 NMR principle . . . . . . oo 19

2.11 The figure(a) shows diagram of cancellation circuit and the figure(b) shows the
picture of cancellation circuit. As shown in figure(c), the x-axis is frequency, the
cancellation circuit can cancel signal with selected frequency. . . .. ... ... .. 21

2.12 (a) The Kel-F coil supporter with coil, the transmitter and receiver coils are both
50 turns. (b) The Kel-F coil supporter with the target cell. (c¢) The draft of single
coil; the transmitter and receiver coils are both 50 turns in real case. . . . . . . .. 21

2.13 The signal flow of single coil method. . . . . . . . ... ... ... L 0L 22

2.14 This figure explain the Eq. 3.4. The blue curve, Pipermai_eq, is the polarization when
HD reach thermal thermal equilibrium. The green curve is the decay function of the
polarization in normal case. With taking two curves in account, the final function
the violet curve, Prarger(t). . -« « o o o oo 23

3.1 The original data with the sensitivity = (lmVrms/ —47dBm) . . ... ... .. 26

v



VI

3.2
3.3

3.4
3.5

3.6

3.7
3.8

3.9

3.10
3.11
3.12

3.13
3.14
3.15

3.16

3.17

3.18
3.19

3.20

3.21

3.22

4.1
4.2
4.3
4.4
4.5
4.6
4.7

LIST OF FIGURES

The signal is ten times of original one. We also change the signal shape to positive.

When we choose the time channel, the signal is more clear. But if one choose
the time channel, the magnetic field sweep speed or data taking speed should be
considered every time. It is inconvenient and inaccurate. . . . . . . . .. ... ...
The magnetic field channel signal is more clear by magnetic field adjustment.

Due to the hysteresis from cold finger and aluminum wire ans some unknown reasons,
the signal position is shifted. . . . . . . ... ... ... ... oo
The highest data point of signal is found, and the signal is shifted horizontally by
adjust the point to the theoretical resonance magnetic field. . . . . . .. .. .. ..
When the phase is clearly not good, we can adjust it by eyes before data taking.
Before we take an average of all signals, the background should be removed for each
signal. The background is assumed to be a first-degree polynomial function. We fit
the background in background-only region. . . . . ... ... ...
Flow chart of histogram method . . . . . . .. ... ... ... ... . .......
Flow chart of error estimation . . . . . . . . . . ... ...
The area of NMR signals are different between every measurement . . . . . .. ..
The area of NMR signals are also different between average of current increase data
(Ainerease, red point) and average of current decrease data (Agecrease, blue point) .
Four models for different shape of NMR signals . . . . . ... ... ... .. ....
Flow chart of model method . . . . . . . . .. ... .. ... ...
These plots show five reference data, and there is no obvious signal. We can not
shift the signal position to theoretical resonance position. The noise level of each
signal, isaround 1 ~5x 1073, . . . . . ...
After we averaged some data, a clear signal appeared. Data average can decrease
the noise level. Figures show that average of 37 data which measured when current
increase and average of 36 data which measured when current decrease. We found
the the highest point of the signal, and shifted the the peak position to theoretical
resonance position. By this way, one can take an average of 73 data and decrease
noise level again. . . . . . . .. L
After we averaged 73 data, a clear peak appeared. The noise level decreased to
2.5 x 1074, The signal height is around 2 x 1073, . . . . ... ... .. ... ....
Flow chart of polarization estimate . . . . . . . .. .. ... ... ... .......
The small peak deviation is included in the signal shape and the signal width is
wider than the normal one. The model, which works well in model method of
relaxation estimation, not works well now. The small peak deviation should be
under consideration. . . . . . ..o
The new parameter, which is sigma of peak deviation, is added to the fitting. Since
four parameters is too many for fitting and the most important is sigma finding,
this fitting is done in small range first. After the sigma was got, a new model, under
consideration about peak deviation, will be produced . . . . . . .. ... ... ...
The blue shape is a Gaussian shape with the sigma which is got from fitting. The
red shape is original model. If the peak position have a deviation as the Gaussian
shape, the black shape will be observe. For easy to imagine, the original model and
the new model are ten times of the one we really used. . . . . . .. ... ... ...
Use the new model with the deviation, we can do fitting again with signal and
background part. . . . .. .. L

Extracting the relaxation time of D at IBC environment with two methods.
Extracting the relaxation time of D at SC environment with two methods.
Extracting the relaxation time of D at TC environment with two methods.
Extracting the relaxation time of H at SC environment with two methods.
Extracting the relaxation time of H at TC environment with two methods.

Get the background of reference signal from fitting. (Histogram method) . . . . . .
After removing the background, fill a histogram to to estimate the area of reference
signal. (Histogram method) . . . . . . . .. ... .. L L

26

27

27

28

28

29

30
31
32
32
32

33
34

35

36

36
37

39

39



LIST OF FIGURES

4.8

4.9

4.10

Al
A2

A3

A4

A5

A6

AT

B.1

B.2

B.3

B.4

B.5

B.6

B.7

B.8

B.9

Fit the reference signal by the D signal model where signal deviation is taken into

VII

account. Background of this signal is also estimated by this fitting. (Model method) 47

After fitting by the model to get the background, fill a histogram to estimate the
area of reference signal.(Model method) . . . . ... ... ... .. ... ... ...
Add the PHYDES data points into IPN Orsay data. The conversion of aging time of
PHYDES data is done by taking account into the concentration of o-Hs. Up to now
the results are reasonable. The higher magnetic field or lower temperature causes
longer relaxation time. . . . . . ... oL oL
The time line of SFT from LEPS group [25]. C¥ is the concentration of o-Hy. In
the bottom figure, the H and D polarization are shown as the solid and the dotted
CUTVES.  « o v v e e e e e e e e e e e

Definition of z axis in superconductor. . . . . . . . . . . ... ...
The fitting of non-uniformity of the local magnetic field. If the position of cell
center is -14 cm, the yellow part is the cell position.The maximum of uniformity of
magnetic field, AB, is proportioned the Beenter- « « « « v v v v v v v v e
Assume that if there is no non-uniformity of the local magnetic field, the D NMR
shape is a Lorentzian shape. In case of a simple simulation, we set it to be a
Gaussian shape, as shown in the top figure. With taking the non-uniformity of
the local magnetic field into account, the D signal is simulated by Eq. A.3. The
simulation is shown bottom figure. . . . . . . . .. .. ... ... ... ..., .
The real D signal which got from measurement. The signal area is normalized to be
same as the simulation. . . . . . . . ...
Assume that if there is no non-uniformity of the local magnetic field, the H NMR
shape is a Lorentzian shape. In case of a simple simulation, we set it to be a
Gaussian shape, as shown in the top figure. With taking the non-uniformity of
the local magnetic field into account, the H signal is simulated by Eq. A.3. The
simulation is shown bottom figure. . . . . . . ... Lo oo
The real H signal which got from measurement. The signal area is normalized to be
same as the simulation. . . . . . . . ... L L
This simulation decide the cell position and cell length be fitting the simulation
result with therealdata . . . . . . . . . . .. . .o o

Get the area of D signal at IBC environment with the histogram method. (current-
increasing, time = 18 hours.) . . . . . . . ... L
Get the area of D signal at IBC environment with the histogram method. (current-
decreasing, time = 18 hours.) . . . . . . . ... L
Get the area of D signal at IBC environment with the histogram method. (current-
increasing, time = 69 hours.) . . . . . . ... Lo
Get the area of D signal at IBC environment with the histogram method. (current-
decreasing, time = 69 hours.) . . . . . . . ...
Get the area of D signal at IBC environment with the histogram method. (current-
increasing, time = 266 hours.) . . . . . . ... L Lo
Get the area of D signal at IBC environment with the histogram method. (current-
decreasing, time = 266 hours.) . . . . . ...
Get the area of D signal at IBC environment with the histogram method. (current-
increasing, time = 333 hours.) . . . . . . ... L
Get the area of D signal at IBC environment with the histogram method. (current-
decreasing, time = 333 hours.) . . . . . ... L.
Get the area of D signal at IBC environment with the model method. (current-
increasing, time = 18 hours.) . . . . . . . ... L

B.10 Get the area of D signal at IBC environment with the model method. (current-

decreasing, time = 18 hours.) . . . . . . . . ..

B.11 Get the area of D signal at IBC environment with the model method. (current-

increasing, time = 69 hours.) . . . . . . ... L Lo

47

49

52

60

60

62

62

63

63

64

66

67

68

69

70

71

72

73

74

75



VIII LIST OF FIGURES

B.12 Get the area of D signal at IBC environment with the model method. (current-
decreasing, time = 69 hours.) . . . . . . ... Lo
B.13 Get the area of D signal at IBC environment with the model method. (current-
increasing, time = 266 hours.) . . . . . .. ... L
B.14 Get the area of D signal at IBC environment with the model method. (current-
decreasing, time = 266 hours.) . . . . .. ...
B.15 Get the area of D signal at IBC environment with the model method. (current-
increasing, time = 333 hours.) . . . . . . ...
B.16 Get the area of D signal at IBC environment with the model method. (current-
decreasing, time = 333 hours.) . . . . .. ... ..
B.17 Get the area of D signal at SC environment with the histogram method. (current-
increasing, time = 22 hours.) . . . . . .. ... L
B.18 Get the area of D signal at SC environment with the histogram method. (current-
decreasing, time = 22 hours.) . . . . . . ...
B.19 Get the area of D signal at SC environment with the histogram method. (current-
increasing, time = 50 hours.) . . . . . . ... Lo
B.20 Get the area of D signal at SC environment with the histogram method. (current-
decreasing, time = 50 hours.) . . . . . .. ...
B.21 Get the area of D signal at SC environment with the histogram method. (current-
increasing, time = 68 hours.) . . . . . . ... Lo
B.22 Get the area of D signal at SC environment with the histogram method. (current-
decreasing, time = 68 hours.) . . . . . . ... L
B.23 Get the area of D signal at SC environment with the model method. (current-
increasing, time = 22 hours.) . . . . . . ... L
B.24 Get the area of D signal at SC environment with the model method. (current-
decreasing, time = 22 hours.) . . . . . . . ...
B.25 Get the area of D signal at SC environment with the model method. (current-
increasing, time = 50 hours.) . . . . . . ... Lo
B.26 Get the area of D signal at SC environment with the model method. (current-
decreasing, time = 50 hours.) . . . . . ... L L
B.27 Get the area of D signal at SC environment with the model method. (current-
increasing, time = 68 hours.) . . . . . .. ... L L
B.28 Get the area of D signal at SC environment with the model method. (current-
decreasing, time = 68 hours.) . . . . . . ...
B.29 Get the area of D signal at TC environment with the histogram method. (current-
increasing, time = 7 hours.) . . . . . . . ... L
B.30 Get the area of D signal at TC environment with the histogram method. (current-
decreasing, time = 7 hours.) . . . . . . . . ...
B.31 Get the area of D signal at TC environment with the histogram method. (current-
increasing, time = 19 hours.) . . . . . .. ... L
B.32 Get the area of D signal at TC environment with the histogram method. (current-
decreasing, time = 19 hours.) . . . . . . . .. L
B.33 Get the area of D signal at TC environment with the histogram method. (current-
increasing, time = 27 hours.) . . . . . . ... L
B.34 Get the area of D signal at TC environment with the histogram method. (current-
decreasing, time = 27 hours.) . . . . . .. ...
B.35 Get the area of D signal at TC environment with the histogram method. (current-
increasing, time = 46 hours.) . . . . . . ... L Lo
B.36 Get the area of D signal at TC environment with the histogram method. (current-
decreasing, time = 46 hours.) . . . . . ... Lo
B.37 Get the area of D signal at TC environment with the model method. (current-
increasing, time = 7 hours.) . . . . . . ...
B.38 Get the area of D signal at TC environment with the model method. (current-
decreasing, time = T hours.) . . . . . . .. ...
B.39 Get the area of D signal at TC environment with the model method. (current-
increasing, time = 19 hours.) . . . . . . . ... L



LIST OF FIGURES IX

B.40 Get the area of D signal at TC environment with the model method. (current-

decreasing, time = 19 hours.) . . . . . . . .. L 105
B.41 Get the area of D signal at TC environment with the model method. (current-
increasing, time = 27 hours.) . . . . . .. ... 106
B.42 Get the area of D signal at TC environment with the model method. (current-
decreasing, time = 27 hours.) . . . . . . . ... 107
B.43 Get the area of D signal at TC environment with the model method. (current-
increasing, time = 46 hours.) . . . . . . ... Lo 108
B.44 Get the area of D signal at TC environment with the model method. (current-
decreasing, time = 46 hours.) . . . . . . . ... e 109
B.45 Get the area of H signal at SC environment with the histogram method. (current-
increasing, time = 0 hours.) . . . . . . . ... L 110
B.46 Get the area of H signal at SC environment with the histogram method. (current-
decreasing, time = O hours.) . . . . . . .. ... 111
B.47 Get the area of H signal at SC environment with the histogram method. (current-
increasing, time = 4 hours.) . . . . . . ... L 112
B.48 Get the area of H signal at SC environment with the histogram method. (current-
decreasing, time = 4 hours.) . . . . . . . ... 113
B.49 Get the area of H signal at SC environment with the histogram method. (current-
increasing, time = 21 hours.) . . . . . . ... L Lo 114
B.50 Get the area of H signal at SC environment with the histogram method. (current-
decreasing, time = 21 hours.) . . . . . . ... L 115
B.51 Get the area of H signal at SC environment with the histogram method. (current-
increasing, time = 47 hours.) . . . . . . ... oL 116
B.52 Get the area of H signal at SC environment with the histogram method. (current-
decreasing, time = 47 hours.) . . . . . . . ... 117
B.53 Get the area of H signal at SC environment with the model method. (current-
increasing, time = 0 hours.) . . . . . . . ... L 118
B.54 Get the area of H signal at SC environment with the model method. (current-
decreasing, time = O hours.) . . . . . . ... ... 119
B.55 Get the area of H signal at SC environment with the model method. (current-
increasing, time = 4 hours.) . . . . . . ... oL 120
B.56 Get the area of H signal at SC environment with the model method. (current-
decreasing, time = 4 hours.) . . . . .. ... 121
B.57 Get the area of H signal at SC environment with the model method. (current-
increasing, time = 21 hours.) . . . . . . ... Lo 122
B.58 Get the area of H signal at SC environment with the model method. (current-
decreasing, time = 21 hours.) . . . . . . . ... 123
B.59 Get the area of H signal at SC environment with the model method. (current-
increasing, time = 47 hours.) . . . . . .. ... oL 124
B.60 Get the area of H signal at SC environment with the model method. (current-
decreasing, time = 47 hours.) . . . . . ... L 125
B.61 Get the area of H signal at TC environment with the histogram method. (current-
increasing, time = 2 hours.) . . . . . . ... L 126
B.62 Get the area of H signal at TC environment with the histogram method. (current-
decreasing, time = 2 hours.) . . . . . . ... L 127
B.63 Get the area of H signal at TC environment with the histogram method. (current-
increasing, time = 20 hours.) . . . . . . ... L Lo 128
B.64 Get the area of H signal at TC environment with the histogram method. (current-
decreasing, time = 20 hours.) . . . . . ... 129
B.65 Get the area of H signal at TC environment with the histogram method. (current-
increasing, time = 47 hours.) . . . . . . ... L 130
B.66 Get the area of H signal at TC environment with the histogram method. (current-
decreasing, time = 47 hours.) . . . . . . . ... e 131

B.67 Get the area of H signal at TC environment with the model method. (current-
increasing, time = 2 hours.) . . . . . . ... 132



B.68 Get the area of H signal at TC environment with the
decreasing, time = 2 hours.)
B.69 Get the area of H signal at TC environment
increasing, time = 20 hours.)
B.70 Get the area of H signal at TC environment
decreasing, time = 20 hours.)
B.71 Get the area of H signal at TC environment
increasing, time = 47 hours.)
B.72 Get the area of H signal at TC environment
decreasing, time = 47 hours.)

LIST OF FIGURES

model method.

(current-

133
(current-

134
(current-

135
(current-

136
(current-

137



List of Tables

3.1

4.1

4.2

4.3

4.4

The HD target staying time and relaxation time in each refrigerator. . . . . . . . .

The HD target staying time and relaxation time in each refrigerator. The unit of
T, is hour. The T} of H in IBC condition is cited from Ref. [22]. . . ... ... ..
When we extracted relaxation time, there are two methods to estimate the signal
area. When we extracted polarization degree of D, there are also two methods to
estimate the signal area. Therefore, there are four kinds of results of polarization
degree. They are consistent. . . . . . . . . . . ...
The HD target staying time and relaxation time in each refrigerator. The unit of
T, is hour. The T} of H in IBC condition is cited from Ref. [22]. . . ... ... ..
The HD target staying time and relaxation time in each refrigerator. The unit of
T) is hour. The T of H in IBC condition is cited from Ref [22]. . . . . . .. .. ..

XI

41

45

48



XII LIST OF TABLES



Chapter 1

Introduction

The HD polarized target will be used in the laser-electron photon facility (LEPS)
at SPring-8, Japan. At SPring-8 BL33LEP beam-line (LEPS facility), the linearly-
polarized photons were produced by Backward-Compton scattering. To introduce a
polarized target plays a very crucial role in upgrading the LEPS experiments. The
physics motivation for producing HD polarized target is discussed in this chapter.

1.1 Motivation

1.1.1 Strangeness content in the proton and neutron

The polarized target enables the measurement of double polarization asymmetries
in ¢ meson photoproduction to study the strangeness content in the proton and
neutron. It is generally accepted that the low-energy properties of nucleon are
well described in terms of three constituent u and d quarks. Therefore, recent
experimental results are very surprising. Experiments from the lepton deep inelastic
scattering indicate that there may be non-negligible strange quark content in the
nucleon and that the strange quarks give 10-20% contributions to the nucleon spin [1,
2]. After these results, there are many experiment [3, 4, 5, 6, 7, 8] which show
similar (~20%) or different conclusions (~0%). This problem is actively discussed
now. This discrepancy should be solved by revealing new experimental information
on the ss-quark content of the nucleon.

The ¢ meson photoproduction is dominated by the diffractive production within
the vector-meson-dominance model (VDM) through Pomeron exchange as shown in
Fig. 1.1(a). Conventional meson exchanges, such as one-pion exchange (OPE) | is
shown in Fig. 1(b), in the t channel are strongly suppressed by the OZI rule. If the
proton has the ss-quark content, it’s possible that there are the s5 knockout and
uud knockout processes on the ¢ meson photoproduction as shown in Fig. 1.1(c,
d). In case of the ¢ meson photoproduction on the neutron, the same processes are
possible (Fig. 1.1(e, f)).

The main ingredient of the knockout photoproduction mechanism is the assump-
tion that the constituent quark wave function of proton, in addition to the usual
three-quark (uud) component, contains a configuration with explicit ss pair. The
following wave function is a simple realization of this figure [9].

|P> = Al[uud])"?) + B{ao|[[uud]*? @ [s5]°]"/%) + a1 |[[uud])'/? ® [s5]']*)}  (1.1)

1
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Figure 1.1: Feynman diagram of ¢ meson photoproduction.

Using this wave function, Titov et al. found that the study of cross section in
small angle region is not sensitive to the ss-quark content in the nucleon. The
cross section of VDM is ten times of s5 knockout, as shown in Fig. 1.2. But the
beam-target asymmetry (CET) for the s5 direct knockout ¢ meson photoproduction
(Fig. 1.1(c)) is very sensitive to the ss-quark content in the nucleon (Fig. 1.3) [9].

The interference of the vector-meson dominance model amplitude and the knock-
out amplitude gives distinct contributions to the asymmetry at small ¢ meson angles.
The asymmetry C'B7 is defined as

CBT =

(1.2)

do(

where do represents do/dt, and % and % denote the sum of the initial proton and
photon helicities.
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Figure 1.2: The unpolarized photoproduction cross section do/dt at E,=2.0 GeV. The solid,
dotted,dashed, and dot-dashed lines give the cross section of VDM, OPE, s5 knockout, and uud
knockout with strangeness admixture B>=1% and |ao| = |a1| = 1/v/2. [9]
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Figure 1.3: The longitudinal asymmetry C2T at E,=2.0 GeV with B?=0%, i.e., the VDM and OPE
(solid lines), 0.25% (dashed lines), and 1% (dot-dashed lines) assuming that ag = a; = 1/+v/2. The
phases of ag and a; for (a), (b), (c), and (d) are (+,+), (—,+), (+, —), and (—, —),respectively. [9].
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1.1.2 Identification Exchange Particle

With the polarized target and polarized photon beam, we can fix the spin and
orientation of initial state particles. It will be a powerful weapon to identify the
exchange particle. For example, the t-channel exchange of A(1520) photoproduction,
as shown in Fig. 1.4. In the reaction, it is unclear whether the K= or K*~ is the
dominant exchange particle. The spin of spinless kaon. K™ is 0. The spin of vector
kaon, K*~ is 1. If the spin and orientation of initial state particles are fixed and also
the spin and orientation of final state are measured, the exchange particle can be
clearly identify.

P .- , P
u=) L U=0) K'(t)= K ()’=07)?
Kius) ¥ K't) =k* ()°=17) ?
p(uud) N A (1520)(uds)
P=129 P=3/2")

Figure 1.4: Feynman diagram of A(1520) photoproduction.

1.2 HD Target Overview

For the need of a polarized proton target, solid ortho-H, is the most desirable can-
didate. Unfortunately, the solid ortho-H, is unsuitable for dynamic polarization
because of its short relaxation time. The next choice, just what we selected, is the
solid HD. The HD molecule can be used as both a proton target and a neutron
target.

The other of advantages of the HD is that the it doses not contain heavy elements,
such as C and N. Good dilution factor is very important when we observe reactions
with small cross sections using the photon beam.

1.2.1 HD Target at Other Laboratories

At Institut de Physique Nucleaire de Orsay (IPN Orsay), they have developed the
static polarization of HD samples using brute force, for HD sample which is purified
by double distillation. With commercially available dilution refrigerators (10 mK)
and superconducting magnets (15 T), proton polarization (Pp) in excess of 60%
and deuteron vector polarization (Pp) higher than 14% have been reached. Fig. 1.5
shows the relaxation times T measured at IPN Orsay as a function of the aging
time. [10].

At the Laser Electron Gamma Source (LEGS) at Brookhaven National Labo-
ratory, the polarized HD target was condensed in a variable temperature cryostat,
where the NMR polarization monitoring system was calibrated at 2 K, transferred
to a dilution refrigerator for polarization at 15 mK and 15 T, held there for typically
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Figure 1.5: The relaxation times T{ measured at IPN Orsay as a function of the aging [10].

three months to reach the frozen-spin state, and finally transferred to an In-Beam
Cryostat (IBC) operating at 0.3 K, where a thin 0.9 T solenoid maintained the H
and D orientations. Data were collected during two periods in Fall 2004 and Spring
2005, the first emphasizing H polarization, with initial Py 59% and Pp 7%, and the
second using increased D polarization following a radio frequency (RF) transfer of
spin between H and D, with Py 32% and Pp 33% [11]. The method which LEGS
used to increase D polarization is Saturated Forbideen Transition (SET) , but not
Forbidden Adiabatic Fast Passage (FAFP). The Pp=33% is the maximum value
that SF'T reach [12].

1.2.2 HD target at RCNP

The HD is an idealistic polarized targets for the LEPS experiments, although thin
aluminum wires (20% in weight) is included in the target cell to insure the cooling
efficiency. In order to achieve high polarizations of proton and deuteron targets,
we employ the static method using “brute force” at low temperature (14 mK) and
high magnetic field (17 Tesla). The polarization can exceed 85% for the proton
after aging process of 2~3 months. The polarization of 60% for the deuteron can be
obtained by transferring the proton polarization to the deuteron by using a method
commonly known as “Adiabatic fast passage”. The relaxation time of about one
year is achievable by keeping the HD target at low temperature below 300 mK with
magnetic field of 1 Tesla during the experiment.
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1.3 LEPS Experimental Setup

The HD target will be used in the the laser-electron photon facility (LEPS) at
SPring-8, Japan. At SPring-8 BL33LEP beam-line (LEPS facility), the linearly-
polarized photon is produced by Backward-Compton scattering. The experimental
apparatus of the measurement is described in this chapter.

1.3.1 SPring-8

SPring-8, an acronym of Super Photon ring-8 GeV facility, is the most powerful
third-generation synchrotron radiation facility with 62 beam-lines now. The fig-
ure 1.6 shows a schematic view of SPring-8 accelerator complex. The accelerator

Electron Gun

Linear
Accelerator

Main Building

Beamline Electron

Synchrotron
Radiation

Experimental , m
Hutch
=
1km-long
Long Beamline
Beamline |v Experimental Hall

Figure 1.6: Standard LEPS magnetic spectrometer.

complex is composed of an injector linear accelerator, a booster synchrotron and
a low emittance storage ring. The linear accelerator generates electrons with an
electron gun, and accelerates them to an energy of 1 GeV. The accelerated electron
beam is transported to the synchrotron, which then accelerates it to 8 GeV. Next,
the beam is injected into the storage ring and stored with the energy of 8 GeV.

1.3.2 Photon Beam

We want to use circularly polarized photon beams with energies of E=1.5-2.4 GeV.
We expect tagged photon intensity of about 10° v’s/sec.
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1.3.3 Target and Spectrometer

The HD target system consists of IBC, gas circulation system, compressor, and
control unit. The IBC is installed just in front of the LEPS spectrometer. The gas
circulation system and compressor are installed in the BL33LEP hutch. The control
unit is placed outside the hutch. When the HD target is transferred from the TC2
to the IBC, the IBC is moved to outside by using the left door. We want to use the
standard LEPS spectrometer for investigating trigger rate and hadron S/N ratio.
The standard LEPS spectrometer consists of a trigger counter, an aerogel cherenkov
counter (AC), a silicon vertex detector (SVTX), three drift chambers (DC1, DC2,
and DC3), and a TOF wall as shown in Fig. 1.7.

Aerogé Cere N

ertex detector (SVTX)

Beam dump

\ S counter TOF Wa”

Figure 1.7: Standard LEPS magnetic spectrometer.
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Chapter 2

The PHYDES System

The Polarized HY drogen-DEuteride target for Strangeness (PHYDES) is designed
for the double polarization asymmetries measuring for the ¢ meson photoproduction
at SPring-8 /LEPS. The PHYDES target system is composed to several distinct sub-
systems. This includes the target material, the cryogenic system, a superconducting
magnet, and the NMR Polarimeter.

2.1 Polarization Mechanism

2.1.1 Theoretical Polarization

From the Boltzmann law, the polarization only relate to magnetic field and temper-
ature, as shown as the follow equation and figure 2.1.

172> N

AE::gﬂNB
2 2

AE=ginB

172> N,

Figure 2.1: Energy level of proton.

AFE —AF
Ny = Ntotalexp(kb—T); N_ = Ntotalexp(kb—T) (2-1)
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Where AF is

AE = gunB (2.2)
Taking the Eq. 2.2 and 2.1 into account, we can get the H polarization as

Ny = N_ _ exp(iF) — exp(55F) AE gpnB
Py = = b b~ = tanh (——=) = tanh 2.3
T N, +N_ ea:p(kAb—E) + exp(_kaE) (ka> ( ky T ) (23
and D polarization as
N, — N_ 4 tanh (242
Pp = + — ( A ) (2.4)
Niy+No+N- tanh (447)

Using above equation, once we know the magnetic field and temperature, we can
estimate the polarization in thermal equilibrium state. At B=17T and T=14mK in
thermal equilibrium state, the H polarization is about 85%, and the D polarization
is about 25%, as shown in Fig. 2.2.

2.1.2 Polarization Method

Heternuclear hydrogen molecules like HD can be polarized and have interesting
properties. The proton with spin 1/2 and the deuteron with spin 1 are independently
polarized and are independently reversible [13].

The basic symmetry condition imposed on the total wave functions of Hy (two
fermions) and Dy (two bosons) gives a restriction on the possible nuclear spin ori-
entation at low temperature. For Hs, the so called ortho state has nuclear spin S=1
and molecular orbital angular momentum L=odd (o-Hs). Since the nuclear spins are
aligned, o-Hs can be polarized. However, the equilibrium condition at low temper-
atures requires the para-hydrogen (p-Hz) state with S=0 and L=0. Here, since the
nuclear magnetic moments are anti-parallel, the sample cannot be polarized. In the
case of deuterium, it is the para-deuterium (p-Ds) combination (S=1; L=odd) that
disappears at low temperature, leaving the ortho-deuterium (0-Dy) (S=0,2; L=0).
Although 5/6 of the nuclei in this state have their spins parallel (S=2), the small
magnetic moment of the deuteron makes static polarization of pure deuterium very
difficult.

In contrast, the orbital and spin angular momenta of the heteronuclear molecules
HD are not limited by symmetry requirements (one fermion and one boson) and
hence can be in the molecular rotation state L=0 independent of the relative ori-
entation by spin 1/2 and spin 1 species at low temperature. Since the spin-lattice
coupling is primarily caused in the process of molecular rotations, the relaxation
rates are extraordinary small. Although this long relaxation time is essential for the
usage of polarized targets in nuclear physics experiments, it makes the polarization
phase equally long. This is a difficulty; we hope to prepare the polarized target
in a relatively short time and like to keep the produced polarized target for a long
time in experiments. For the polarization of HD, the solution to this difficulty was
suggested by Honig in 1967 [14].

Figure 2.3. shows a schematic view of the process of the polarized HD target.
The equilibrium condition at low temperatures requires the p-H, state with S=0
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Figure 2.2: The polarization could be estimate by Eq. 2.3 and Eq. 2.4. This figure shows the Py
and the Pp at 14mK and 17T.

and L=0. When the o-Hy flip to the p-Hs, the HD protons can exchange energy
with the o-Hs spins by means of mutual spin flips. When the o-H, flip to the p-Hs,
the energy of these two states also generate photon. The photon may flip another
p-Hs to o-Hs, or just generate heat.

Therefore, introducing small (approximately the order of 107*) contamination of
o-Hy and p-D,, as an impurity, can reduce the relaxation time. The presence of
o-Hs and p-Ds plays an important role to polarize the target. The molecular orbital
angular momentum couples with both the lattice and the nuclear spin. Thus, by
doping a small amounts of o-Hy and p-Ds into the pure HD, the relaxation times of
the H and D in HD are reduced so that the sample can be polarized.

The equilibrium polarizations of 85% for H and 25% (vector) for D can be
achieved in this way for HD cooled to 14 mK in a Dilution Refrigerator at the
magnetic field of 17 T. The sample must be kept at the temperature of 14 mK and
under the field conditions long enough to let the impurities o-Hs and p-Ds decay
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Figure 2.3: The equilibrium condition at low temperatures requires the p-Ho state with S=0 and
L=0. When the o-Hs flip to the p-Hy, the HD protons can exchange energy with the o-Hs spins
by means of mutual spin flips. When the o-Hs flip to the p-Hs, the energy of these two states also
generate photon. The photon may flip another p-Hs to o-Hs, or just generate heat.

to their magnetically-inert ground states, so that the sample spins are effectively
frozen. In view of the corresponding decay time constants, this aging process can be
very long (40 days to reach H relaxation times longer than a week at 4 K and 0.5 T)
and become prohibitive for D. Furthermore, the D polarization is only 20%. There-
fore, in the practical cycle which has been used to polarize HD, only o-H, doping
has been used to polarize H. The D polarization has been obtained by transferring
the H polarization to the D, using a method commonly known as Adiabatic Fast
Passage [15]. This technique takes advantage of the dipole coupling of H and D
nuclei in different HD molecules. In this way, the polarization of deuteron reaches
at 60% [16, 17].

2.2 Polarized Target Production

We selected the HD molecule as a polarized nucleon target. The HD molecule
can become both a proton target and a neutron target. The HD is an idealistic
polarized targets for the LEPS experiments. In order to achieve high polarizations
of proton and deuteron targets, we employ the static method using “brute force” at
low temperature (14 mK) and high magnetic field (17 Tesla).
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2.2.1 Target Cell

The target cell for PHYDES is designed for transport of solid HD in a frozen-
spin or equilibrium polarization state from one cryostat to another as well as to
transport heat produced in the ortho-para conversion process out from the HD into
the cryostat. It must also not generate a large background under hydrogen signal
for polarization measurement on the target.

The main components of target cell are the copper target ring, aluminum cooling
wires and the Kel-F end-caps. The copper target ring is used to connect the cold
finger of the DRS. The copper target ring must be of sufficient purity to provide
good thermal conductivity at the millikelvin range of temperatures used to polarize
the HD target. The target ring should also be nonmagnetic so that it does not
interfere with the NMR line-shape.

The aluminum cooling wires are 50 um in diameter and 99.999% purity. They
are bundled and attached to the target ring. There are approximately 2000 such
cooling wires in each target cell. The total mass of the aluminum wires is about
20% of the mass of the HD target material.

The end-caps are made of Kel-F which contains no atomic hydrogen. It won’t
introduce the additional background to the NMR signals. The majority of the
nuclear background is from this material so the parts of the end-caps which will be
in the beam are made as thin as possible. The top cap is necessary to reduce the
size of hole open to vacuum (or He exchange gas) so that the amount of HD which
sublimates from the solid target is negligible. [12].

2.2.2 Cryogenic and Magnet Systems

The polarized HD system include five refrigerators. The procedure of target pro-
duction is :

1. At RCNP, pure HD gas with the amount of 1 mole is produced by using the
HD gas distillator.

2. The HD gas is solidified and the polarization of the reference HD is measured
in a *He refrigerator (SC).

3. Another *He refrigerator (TC1) transfer solid HD from SC to dilution refriger-
ator system (DRS).

4. The polarization of the solid HD is made and frozen by aging at B=17 Tesla
and at T=14 mK in DRS.

5. The polarized HD is transferred from the dilution refrigerator (DRS) to a ‘He
refrigerator (SC) by using another ‘He refrigerator (TC1).

6. The polarization of the polarized HD is measured in SC.
7. The SC is transported to SPring-8/LEPS by a truck.

8. At SPring-8/LEPS, the polarized HD is transferred from the SC to a dilution
refrigerator(IBC) by using the last “He refrigerator (TC2).

All polarization measurements are performed in SC. The flow chart of target trans-
portation is shown in figure 2.4. The IBC provides a magnetic field of 1 Tesla and
a temperature of 300 mK during the physics experiment for a few months [13].
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Figure 2.4: The flow chart of target transportation.

Distillator

The purity of commercial HD gas is about 96% and most of contaminations are
Hy (2%) and Do (2%). Distillator purify the HD gas up to 99.99% in order to
optimize the amount of impurities. There are packings called “Helipack” inside
the distiller. Temperature gradient is made by cooling the top and heating the
bottom of the distiller. Heat exchange between gas and liquid takes place on the
packings. A low-boiling element is vaporized and extracted from the top of the
distiller. The difference of the boiling points of HD, Hy and D, enables for the HD
gas to be separated from the others. The concentration of Hy and D5 is measured
by a quadrupole mass spectrometer. [18]

Dilution Refrigerator System (DRS)

The DRS is to polarize the HD target for the first stage at RCNP. We made a hole,
where the Dilution Refrigerator (DR) and a dewar were installed, with a depth of
5.5 m and a diameter of 1.6 m. A support frame for the DR and the dewar was
constructed to remove vibrations which increase the temperature of the target. We
installed the DR, fabricated by Leiden Cryogenics, with a cooling power of 3000W at
120 mK and a lowest temperature of 6 mK. A super-conducting magnet is made by
JASTEC company. The magnet has maximum magnetic field at the target center
is 17 Tesla (290 A) at 4.2K. Fig. 2.6 shows the DRS picture.
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Storage Cryostat (SC)

SC is to keep HD polarization on the way of the transportation from RCNP to
Spring8. The SC is transported to SPring-8/LEPS by using a truck. The SC is
also used to solidify the HD and measure the the polarization of the reference HD.
SC is a “He refrigerator with superconducting magnet, fabricated by Oxford, with
a lowest temperature of 1.2 K and the highest magnetic field of 2.5 Tesla.

In Beam Cryostat (IBC)

IBC is to cool the target during the experiment at SPring-8. The IBC is a 3He-*He
dilution refrigerator with superconducting magnet. The lowest temperature of the
IBC mixing chamber is 250 mK and the magnetic field to hold the polarization of
the HD target is 1 Tesla. Fig. 2.8 shows the perspective drawing of IBC and the
real picture of IBC.

Transfer Cryostat (TC)

The 4.2 K transfer cryostats (TC) are provided by France IPN Orsay in 2006. The
TC1 is mainly for moving the target from the DRS to the SC. The TC2 is mainly
for moving the target from the SC to the IBC (Fig. 2.9). Basically, a left-hand right-
hand thread mechanism makes it possible to engage, screw or unscrew a target in
or from its cold finger, while a 0.15 T superconducting magnet provides a magnetic
field sufficient to hold the target polarization during the period of the cold transfer
process of HD from one cryostat to another.
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Figure 2.5: Distillator. Figure 2.6: Dilution Refrigerator System (DRS)



2.2. POLARIZED TARGET PRODUCTION

Figure 2.7: Storage Cryostat (SC)

17
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Figure 2.8: The left figure is the perspective drawing of IBC. The right figure is real picture of
IBC

Figure 2.9: The left side of the figure is TC1, which is mainly for moving the target from the DRS
to the SC. The right side the figure is TC2, which is mainly for moving the target from the SC to
the IBC.
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2.3 NMR Polarimeter

2.3.1 NMR Principles

What is NMR?

Nuclear magnetic resonance (NMR), is a physical resonance phenomenon involving
the observation of specific quantum mechanical magnetic properties of an atomic nu-
cleus in the presence of an applied, external magnetic field. All nuclei that contain
odd numbers of nucleons have an intrinsic magnetic moment and angular momen-
tum.

How is NMR Detected?

As the Fig. 2.10, a large static magnetic field breaks the energy degeneracy between
the nuclear Zeeman levels so that transitions can be driven by a RF field applied
perpendicular to the static magnetic field. The energy absorbed or emitted is pro-
portional to the difference in the populations of the magnetic sub states and hence
the polarization of the target material. The RF frequency required, known as the
Larmor frequency, is determined by the gyromagnetic ratio of the nuclei of interest
and the strength of the static magnetic field. In practice, the frequency response
is broadened by small variations in the local magnetic field but, as the term reso-
nance implies, the response is negligible outside of a narrow frequency band centered
around the Larmor frequency.

e 7 e

Transmitter coil
‘ AE=pHo

ms=-1/2
0 AE=hv S
I )— s
Fau

Receiver coil ]
el Ms=++ 1/2

Figure 2.10: NMR principle
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How to Get the Polarization by NMR Measurement?

The net absorption or emission of electromagnetic radiation by the nuclear spin
system can be modeled macroscopically as the imaginary component of complex
magnetic susceptibility, x(w) = x'(w) + ix”(w), where the real part is absorption
part and the imaginary part is dispersion part. The vector polarization, P, can be
written as

o0

P « /X”(w)dw (2.5)
0
which forms the basis for the area methods used to determine polarization.

2.3.2 NMR Hardware and Software

The single coil method is selected for PHYDES System. In this method, a single
coil is used for both transmitter and receiver coils. When the single coil is used,
one should construct an electronic circuit so that an RF signal from a transmit-
ter does not mix with a signal from a receiver. Therefore, we used a cancellation
circuit which is proposed by Jefferey and Armstrong [19]. The Fig. 2.11(a) shows
diagram of cancellation circuit and the Fig. 2.11(b) shows the picture of cancellation
circuit. As shown in Fig. 2.11(c), the x-axis is frequency, the cancellation circuit
can cancel signal with selected frequency. When receiver coils receive the signal, the
signals come from transmitter but not nuclear magnetic resonance can be canceled
easily by cancellation circuit. The cancellation circuit only can cancel signal with
selected frequency; therefore during the NMR measurement, the frequency sweep-
ing is out of the question. On the other hand, the whole NMR circuit is related to
frequency. Even cancellation circuit is not employed, the frequency sweeping will
produce unexpected noise.

The Fig. 2.11(a) shows diagram of cancellation circuit and the Fig. 2.11(b) shows
the picture of cancellation circuit, the transmitter and receiver coils are both 1 turns.
As shown in Fig. 2.11(c), the x-axis is frequency, the cancellation circuit can cancel
signal with selected frequency. The signal coil for PHYDES system is saddle coil, as
shown in Fig. 2.12(c). D. M. Ginsrerg and Melvin J. Melchner find that the saddle
coil with height/diameter=2 and angle 120 degree make most uniform field in the
coil [20].

Phase correction is performed by the phase shifter in lock-in amplifier and is to
align the phase of the reference signal and measuring signal. In lock-in amplifier,
reference and measuring signals are multiplied and integrated. If two signal have
same frequency one can get the amplitude of the signal. If two signal have different
frequency, signal vanish. So, we can extract the small signal with a fixed frequency
embedded in the big noise.

The Fig. 2.13 is diagram of whole circuit for NMR measurement.
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Figure 2.11: The figure(a) shows diagram of cancellation circuit and the figure(b) shows the picture
of cancellation circuit. As shown in figure(c), the x-axis is frequency, the cancellation circuit can
cancel signal with selected frequency.

Figure 2.12: (a) The Kel-F coil supporter with coil, the transmitter and receiver coils are both 50
turns. (b) The Kel-F coil supporter with the target cell. (c) The draft of single coil; the transmitter
and receiver coils are both 50 turns in real case.
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2.3.3 Extracting the Polarization

Just like we talked in Section 2.1.1, the polarization is assumed to be proportion to
the area of the NMR signals. The main problem is just that we don’t know the ratio
of area to polarization. There is a easy solution of the problem. From the Boltzmann
law (as we talked in section 2.1.1 ), the polarization is only related to magnetic field
and temperature. For getting a reference signal, one can put the target in a stable
magnetic field and temperature environment, then wait until thermal equilibrium.
Once we measure a target with known polarization by NMR, we can apply the the
ratio of area (A) to polarization (P) to estimate the polarization from NMR signal
area, as shown in Eq. 2.6. We called this “reference signal”.

P.rx A
Py = w (2.6)
ref
2.3.4 Extracting the Relaxation Time

The spin-lattice relaxation time, 77 is defined as the lifetime in an exponential decay
of polarization of the form as follows:

t
Ptarget(t> - ptarget(o) + (pthermal_eq - ptarget(o))(l - eXp(_i)) (27)



2.3. NMR POLARIMETER 23

Ptarget(O) I I

Ptarget(O)'Pthermal_eq1\ Ptarget(t) —
exp(-t/T1) =
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Figure 2.14: This figure explain the Eq. 3.4. The blue curve, Pipermal_eq, is the polarization when
HD reach thermal thermal equilibrium. The green curve is the decay function of the polarization
in normal case. With taking two curves in account, the final function the violet curve, Pigrget(t).
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Chapter 3

Data Taking and Analysis

We produced a polarized HD target for the first time in 2008 and named it PHY-
DESO1. PHYDESO1 is made for study of polarization and relaxation time for H and
D. In this chapter, the details in data taking and analysis will be shown.

3.1 PHYDESO1 Production and Data Taking

We produced a polarized HD target for the first time in 2008. The normal process
of PHYDES production was discussed in section. 2.2. The polarized HD system
consist of five refrigerators. The TC1 and TC2 did not work in this time; therefore,
solidifying HD and measuring polarization were performed at DRS.

Since there were some unexpected accidents, such as damaged of HD gas pipe
and the short of pure HD gas, only 0.68 mole HD was solidified for PHYDESO1.
When HD just was solidified HD in DRS, the H reference signal was measured at
B=1T and T=4.2K. The D reference signal was not measured, because D signal was
too small to be observed at B=1T and T=4.2K. The concentration of Hy is 1.26%
and the concentration of Dy is 2.07%. So that the concentration of HD is 97.66%.

After the aging time of 53 days at B=17 Tesla and at T=14 mK, the hydrogen
(H) and deuterium (D) in the HD was measured by the NMR system [21]. To
make sure that the relaxation time is long enough for the transportation time,
we also measured relaxation time in the experimental condition of TC1, SC, and
TC2. The details of data taking is summarized in Table 3.1. The details about H
reference signal, H polarization and relaxation time in IBC condition are discribed
in Morisaki’s thesis [22]. Usually, we measured 10 signals for one data group, 5
signals for magnetic field increase, 5 signals for magnetic field decrease. We average
the 10 signals to get one data point for relaxation time fitting.

reference signal IBC SC TC
Nuclear H D H D H D H D
Storage Temperature (K) 4.2 0.3 1.2 4.2
Storage Magnetic Field(T)  1.08 7.26 1.08 1.08 1.08 1.08 0.15 0.15
Resonance Point (T) 1.1361 7.4044 1.1366 7.4044 1.1366 7.4044 1.1366 7.4044
Radio Frequency(MHz) 48.373 48.395
B Sweep Speed (T /min) 0.0938 0.0938
Sample Rate 2500 500

Table 3.1: The HD target staying time and relaxation time in each refrigerator.

25
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3.2 Preparation of Analysis

3.2.1 Unification of the Signal Amplification

Before started aging, we measured the reference signal, and set the sensitivity to
(ImVrms/ — 47dBm). After aging, the signal increase a lot. To prevent the signal
overflow, we changed the sensitivity to (10mVrms/—27dBm) to decrease the signal.
This change makes the signal size decrease 10% of original one. When we analysis
data, just multiplied the signal by ten. With this modification, this signal area is
increase ten time. And, of course, this modification is not done on the signals which
we got before aging. On the other hand, for convenience, the negative shape is
changed to positive. During this modification, the signal area is not changed. These
modification are shown in Figure 3.1 and 3.2.
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Figure 3.1: The original data with the sensitivity = (1mVrms/ — 47dBm)
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Figure 3.2: The signal is ten times of original one. We also change the signal
shape to positive.

3.2.2 Magnetic Field Adjustment

Due to the inaccuracy of measurement, the magnetic field is a little bit messy.
Unfortunately, the line width of NMR signal is just very narrow, so that the NMR
signal is blurred. Actually, when we sweep the magnetic field, the change of magnetic
field is more smooth. We can confirm this by using the time channel, as shown in
Fig. 3.3. But if one choose the time channel, the speed of magnetic field sweeping
or speed of data taking should be considered each time. It is inconvenient and
inaccurate. That is why we choose the magnetic field channel, and do some magnetic
field adjustment. We averaged magnetic field of 101 points, and readjusted magnetic
field of the center point (the 51th point). The adjusted signal is shown in Figure
3.4.
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adjustment.

3.2.3 Data-Position Shifting

Due to the hysteresis from cold finger and aluminum wire and some unknown rea-
sons, the signal position is shifted, as shown in Fig. 3.5

We found the highest data point of signal, and shift the signal horizontally by
adjusting the point to the theoretical resonance magnetic field. We also remove the
background roughly , in the 3.2.6, the background will be removed more carefully.

3.2.4 Unification of Bin Size

We unify the bin size to 0.0005 T. There is no specific reason for this choice. Just
the bin size in all condition should be unified, and this bin size is appropriate for

the observation of both small and big signals.

3.2.5 Phase correction

In an ideal NMR experiment there is no phase shift. In practice, during a real

NMR experiment a phase correction must be applied to either the time or frequency
domain spectra to obtain an absorption spectrum as the real output. As discussed in
section 2.3.2, phase correction is performed by the phase shifter in lock-in amplifier
and is to align the phase of the reference signal and measured signal. If the phases
between the measuring signal and reference signal in lock-in amplifier is different, the
value obtained is RE cos ¢+ IM sin ¢ (RE=the real part; IM=the imaginary part;
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Figure 3.6: The highest data point of signal is found, and the signal is
shifted horizontally by adjust the point to the theoretical resonance
magnetic field.

¢=the difference of the phase). So, to obtain only RE or IM, the phases should be
same. This process is equivalent to the coordinate transformation as follow,

()= (a0 o) () -

We adjusted the phase in lock-in amplifier when we just got the signal. But that
is just roughly adjusted by eyes. Fig. 3.7 shows the examples of signals with a good
phase and bad phase.

After we finished the data taking, one can zoom into the signals by logarithm
scale, and adjust phase by Eq.3.1 again.

3.2.6 Background Removing

There is still background included in the signal. That is the residual signal which
the cancellation circuit cannot cancel. And by the change of the circuit by the
circumstance change (ex. temperature or magnetic field), change the magnitude of
the background.

The background is assumed to be a first-degree polynomial function. We fit the
background in background-only region. To decide the background region, we pick a
group of signals first. For D, we pick up the first data we measured after aging. This
group of signal has the highest S/N ratio. For H, after the polarization of empty cell
decrease to almost zero (after ten times of relaxation time), we picked a group which
with high S/N ratio. The relaxation time of empty cell is around 22 hours [22].

Since the signal shape is different between H and D, we use different background
region. We zoom in this signal by logarithm scale and define the flatness region to
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Figure 3.7: When the phase is clearly not good, we can adjust it by eyes before data taking.

be the background region. Some backgrounds are included in the signals. Before we
take an average of all signals, the background should be removed for each signal. The
background is assumed to be a first-degree polynomial function. The background is
only fitted in background-only region, as shown in Fig. 3.8.

3.3 Relaxation Time Extracting

The spin-lattice relaxation time, 77 is defined as the lifetime in an exponential decay
of polarization degree (P) of the form as follow

P(t) = P(0) + (Prhermat.eq — P(0))(1 — exp(—Til» (3.9)

The polarization degree is assumed to be proportional to the area of the NMR signals
(A). The follow equation is used for relaxation time estimation.

A(®) = A0) + (Atermarg = AO)(1 = eap(—7) (3.3)

At first, we have no idea about the exact value of Aspermaieq- The Pipermaieq 18
clear, but the ratio of area to polarization is unknown. The ratio of area to polariza-
tion could be gotten by the study of reference signal. Fortunately, the polarization
degree after aging is much higher than the polarization degree of thermal equilib-
rium state. The Piermaleq (Athermal_eq) can be ignored, in this equation temporarily.
After the study of reference signal, we can estimate the Aspermareq and put it back
to this function again.

There are two methods to estimate the area of NMR signals. One is histogram
method and another is model method. The results from two methods are consistent.
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Figure 3.8: Before we take an average of all signals, the background should be removed for each
signal. The background is assumed to be a first-degree polynomial function. We fit the background
in background-only region.

3.3.1 Extracting Signal Area by Histogram Method

In the histogram method, at first, we fit the background for each signal in background-
only region and remove the background, just like the 3.2.6. We average the signals
respectively in different sweep direction of magnetic field. After taking average, we
fit the background in background-only region to remove the background again. The
signal without background is used to fill histogram. The integral of histogram is the
signal area. The area obtained is different in two sweep direction of magnetic field.
We average them to get the final result of signal area. The flow chart is shown in

Figure. 3.9.
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The error bar is estimated from the data in background side. The signal height
of each bin in background part is filled to a new histogram. We use the RMS of the
new histogram to be the error bar of each bin. In order to prevent that the difference
between the left side and right side of background bring the inaccuracy, the left side
and right side of background part are filled to different histogram, respectively. And
this estimation shifts the two histograms horizontally by shifting the mean value to
zero and then merges two histograms to one histogram. The RMS of final histogram
is used to be the final error bar for all bins in the final fitting. The error estimation
flow chart is shown in Figure. 3.10. The estimation of the area is done with this
error bar. There are 200 bins in the histogram, so that the error of area is 200 times
of the error bar of each bin. The above error is the statistical error (Egq).

The systematic error of area of NMR signal is also taken into account. It cause the
area of NMR signals to be different between every measurement and also between
average of current increase data (Ajcrease) and average of current decrease data
(Adecrease) » as shown in Fig. 3.11 and Fig. 3.12. The systematic error (Ejy;) is
defined as

Esys - \/(Aincrease - A(we)Q + (Adecrease - A(we)2 (34)

where the Ay = (Aincrease + Adecrease) /2. The final error of area of NMR signal
(Efinat) is defined as

Efinal - E?tat + E?ys' (35)
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3.3.2 Extracting Signal Area by Model Method

The shapes of NMR signals of H and D do not fit to any given function. Fortunately,
even the polarization decreases and the area of NMR signal decreases, the shape of
NMR signal is not changed. In other words, when the change of the signal size is due
to the change of the polarization, the width of the NMR signal dose not changed.
The only change is just the height of signal. We made four models for NMR signals:
H signals and D signals in case of increasing and decreasing current, respectively, as
shown in Fig. 3.13.

For D, we pick up the first data which we measured after aging. This group of
signal has the largest S/N ratio. For H, after the polarization of empty cell decrease
to almost zero (after ten times of relaxation time), we picked a group which with high
S/N ratio. The relaxation time of empty cell is around 22 hours [22]. After we picked
up a group of a NMR signals, we used “Histogram Method”, as discussed in 3.3.1,
to fill a histogram and made a histogram model. But when we made the model, we
made two model for current-increasing and current-decreasing, respectively. After
we fill the histogram, the area of histogram is normalized to 1.

The flow chart of model method which is similar to the flow chart of histogram
method, is shown in Figure. 3.14. The systematic error is also considered in this
method as the Eq. 3.4 and Eq. 3.5.
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Figure 3.13: Four models for different shape of NMR signals



34

CHAPTER 3. DATA TAKING AND ANALYSIS

Current decrease data

.

e eymesel P
oot
-

Figure 3.14: Flow chart of model method



3.4. POLARIZATION EXTRACTING 35
3.4 Polarization Extracting

The estimation of H polarization degree is discribed in Ref. [22]. In this study, we
considers the estimation of D polarization degree. The estimation of polarization use
the reference signal to find out the polarization. The reference signal was measured
in thermal equilibrium state. The polarization degree can be estimated easily by
the Boltzmann law (as we talked in section 2.1.1). When the D reference signal is
measured, the HD target is assumed to be at 4.2K and 7.26T in the thermal equi-
librium state. The polarization degree of D is 3.6115 x 10~*. With this information,
we can estimate the ratio of polarization to signal area.

The area estimation is similar to that we used in relaxation time estimation. But
the reference signal is too small to see the peak in one signal, as shown in Fig. 3.15.
To decrease the noise level, one has to average some data to find the peak. Since the
signal position varies between current increase and current decrease data, the data
average was done, respectively, as shown in Fig. 3.16. After averaging some data,
the signal is clear to see. So the signal-position shifting can be done in this moment.
We found the the highest point of the signal, and shifted the the peak position to
theoretical resonance position. Base on this move, the data with different direction
of current sweep can be averaged. The noise level can be reduced more, as shown
in Fig. 3.17. The noise level of original data is 1 ~ 5 x 1073, After we averaged 73
data, the noise level decreased to 2.5 x 1074, The signal height is around 2 x 1073,

There are still two methods for polarization estimation, histogram method and
model method. The flow chat of them is shown in figure 3.18.

Figure 3.15: These plots show five reference data, and there is no obvious signal. We can not
shift the signal position to theoretical resonance position. The noise level of each signal, is around
1~5x1073.



36 CHAPTER 3. DATA TAKING AND ANALYSIS

|IIII|IIII|IIII|IIII|IIII|II
~N

. Average of 37 data which measured when current increase.

-0.003 By
36 7.37 7.38 7.39 74 741 7.42 743 744 7.45

— 0002 E- Average of 36 data which measured when current decrease.
S v - ]
é - i il IE3i i i il it fed
o 0001 il
)] -
S -
o OF
> -
g 0001 -
S =
S -0.002

_7.3;6 7.3;7 7.3IS 7.?:9 7.I4 7.4I11 7.4I12 7.4Il3 7.4Il4 7.4I15

B (Tesla)

Figure 3.16: After we averaged some data, a clear signal appeared. Data average can decrease
the noise level. Figures show that average of 37 data which measured when current increase and
average of 36 data which measured when current decrease. We found the the highest point of the
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Figure 3.17: After we averaged 73 data, a clear peak appeared. The noise level decreased to
2.5 x 1074, The signal height is around 2 x 1073,
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3.4.1 Histogram Method

The histogram method of polarization estimation is almost same as the histogram
method of relaxation time estimation, which is shown in 3.3.1. The difference is just
the timing of peak-position shifting. Thus the small peak deviation is included in the
signal shape and the signal width is wider than the normal one. The background part
is same as the background part of histogram method of relaxation time estimation.
This choice is a little bit biased, because of the signal width is wider. That is the
reason that why we need the model method to confirm the result.

3.4.2 Model Method

The small peak deviation is included in the signal shape and the signal width is wider
than the normal one. The model, which works well in model method of relaxation
estimation, does not work well now (Figure 3.19). The small peak deviation should
be considered. Assuming that the peak deviation is a Gaussian function, a new
parameter, which is sigma of peak deviation, is added to the fitting (Figure 3.20).
Since four parameters are too many for fitting and the most important is sigma find-
ing, this fitting is done in a small range first. After the sigma was determined, a new
model, taking into account peak deviation, is produced. The production diagram of
new model is shown in Fig. 3.21. Using the new model with the deviation, we can
do fitting again. At this moment, the background part is also under consideration.
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Figure 3.19: The small peak deviation is included in the signal shape and the signal width
is wider than the normal one. The model, which works well in model method of relaxation
estimation, not works well now. The small peak deviation should be under consideration.
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Figure 3.20: The new parameter, which is sigma of peak deviation, is added to the fitting. Since
four parameters is too many for fitting and the most important is sigma finding, this fitting is
done in small range first. After the sigma was got, a new model, under consideration about
peak deviation, will be produced
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Figure 3.21: The blue shape is a Gaussian shape with the sigma which is got from fitting. The
red shape is original model. If the peak position have a deviation as the Gaussian shape, the black
shape will be observe. For easy to imagine, the original model and the new model are ten times of

the one we really used.
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Figure 3.22: Use the new model with the deviation,

background part.

we can do fitting again with signal and
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Chapter 4

Result and Discussion

4.1 Relaxation Time Extracting

As discussed in section 3.3, there are two methods for extracting of relaxation time
(T}). There are three environments of refrigerators that we want to check. These
are IBC, SC and TC (included TC1 and TC2). The 7; is estimate by Eq.3.4. The
fitting of all kinds of environments in both methods for H and D are shown in Fig 4.1
~ Fig 4.5. And the detail about the area of estimation of all the data point is shown
in appendix B. All results of T} measured are summarized in Table. 4.1.

The result of D shows that two kinds of methods with good consistency. The
result of H shows bad consistency. The whole area estimations of relaxation time
are placed in the Appendix. B. The model method is not good for big signal. With
the model method, compare with the height of the big signal, such like the H signal,
the error is too small, so that the chi-square is too large. The fitting can be found
not perfect even by eyes, such as Fig. B.71. On the other hand, the H signal shape
is not good for model method. There are some unexpected structure included in
the H signal shape, such as different direction of current sweeping and background
signal from empty cell. Nevertheless, we use histogram method for estimation of
signal area. The model method is good for checking the results, especially for the
small signals.

Method Histogram Method Model Method
Nuclear Staying time T, of H T, of D T, of H T, of D

IBC (0.3K, 1.08T) about 3 months 2546+380[22] 1741+167.6 2546+380[22] 1907+ 273.5
SC (1.2K, 1.08T) 3 hours 281.24£25.59 302.6+£28.55 237.54+12.75 290.1444.2
TC (4.2K, 0.15T) 0.5 hours 147.3+3.8 47.8+5.5 141.4+2.5 44.0+4.6

Table 4.1: The HD target staying time and relaxation time in each refrigerator. The unit of 77 is
hour. The T} of H in IBC condition is cited from Ref. [22].
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Figure 4.1: Extracting the relaxation time of D at IBC environment with two methods.
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Figure 4.2: Extracting the relaxation time of D at SC environment with two methods.
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Figure 4.3: Extracting the relaxation time of D at TC environment with two methods.
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Figure 4.4: Extracting the relaxation time of H at SC environment with two methods.
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Figure 4.5: Extracting the relaxation time of H at TC environment with two methods.
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4.2 Polarization Extracting

As discussed in section 3.4, when we extracted polarization degree of D, there are two
methods, histogram method and model method, to estimate the signal area. Fig. 4.6
and Fig. 4.7 show the area estimation of reference signal by histogram method.
Fig. 4.8 and Fig. 4.9 show the area estimation of reference signal by model method.
The polarization of reference signal can be estimated easily by the Boltzmann law.
About the signal area when we just finish the aging, we can finger it out when
we estimate the relaxation time, as shown as the Sy in Fig. 4.1. After the area
of reference signal is known, we can estimate the polarization of H and D by the
Eq. 4.1. At the same time, the error of the polarization can be estimate by Eq. 4.2.
The polarization of H is written in Ref. [22]. This study focuses on the polarization

of D.
Pref X Ainit

Py = el = Limit 41

t Aref ( )
EAim't EAref

E init — ]Dznz 2 2 4.2

Pinit tx\/(Aimt)Jr(Aref) (4.2)

When we extracted relaxation time (77), there are two methods, histogram
method and model method, to estimate the signal area. When we extracted polar-
ization degree of D, there are also two method to estimate the signal area. Therefore,
there are four kinds of results of polarization degree, as shown in Table. 4.2. They
are consistent.

Ref Method Histogram Model

Apey (1.18 £ 0.35) x 107%  (1.23£0.18) x 1076
Prey (3.6115) x 10~

Ainit from Histogram Method (4.473 4 0.05) x 1074

Ainit from Model Method (4.456 +0.07) x 1074

P;,i¢ from Histogram Method — 13.69 + 4.06% 13.13 +£1.93%

Pjpiy from Model Method 13.64 £ 4.07% 13.08 +1.93%

Table 4.2: When we extracted relaxation time, there are two methods to estimate the signal area.
When we extracted polarization degree of D, there are also two methods to estimate the signal
area. Therefore, there are four kinds of results of polarization degree. They are consistent.
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Figure 4.6: Get the background of reference signal from fitting. (Histogram method)
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Figure 4.7: After removing the background, fill a histogram to to estimate the area of reference
signal. (Histogram method)
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Figure 4.8: Fit the reference signal by the D signal model where signal deviation is taken into
account. Background of this signal is also estimated by this fitting. (Model method)
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Figure 4.9: After fitting by the model to get the background, fill a histogram to estimate the area
of reference signal.(Model method)
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4.3 Conclusion

As we talked in section 4.1, the model method is good for small signals. The D signal
is not very larger than the error of signal and the chi-square is not so bad. Histogram
method and model method are also consistent. Since the most important thing in
the histogram method is to design the background part, the histogram method is
not good in too small signal with bigger background. When we estimate the area
of reference signal, the background is too big. This is also the reason why we take
average of many signals to see the peak.

In the estimation of relaxation time, there are both H and D estimation, and
there are big signals and small signals, but there is no such a small signal like the
reference signal. To unify the estimation of relaxation time, the histogram method
is hired. In the estimation of D polarization, the reference signal is too small to use
the histogram method, so that the model method is hired.

Just remind reader again, two methods are consistent in D signal. The Table. 4.3
shows the final result.

After 53 days aging Py Pp
41.443.10%  13.13+1.93%
Ty of H Ty of D Staying time

IBC (0.3K, 1.08T) 2546+380[22] 1741+£167.6 about 3 months
SC (1.2K, 1.08T) 276.6£22.9 302.6£28.6 3 hours
TC (4.2K, 0.15T) 147.3£3.8 47.8+5.5 0.5 hours

Table 4.3: The HD target staying time and relaxation time in each refrigerator. The unit of T3 is
hour. The T} of H in IBC condition is cited from Ref. [22].

By taking account of HD target staying time and 77 in each refrigerator, if the
initial polarization is assumed to be 100%, the H polarization becomes 98% and
D polarization becomes 97% after moving the HD target from RCNP to SPring-
8/LEPS. These results show that the relaxation times are long enough for loss of
polarization during transportation. We plan to start a production of HD and move
it to SPring-8/LEPS and carry out a performance check by using circularly polarized
photon beams in 2010 [23].

4.4 Discussion and the Future

4.4.1 Study of Aging Time

At TPN Orsay, they have studied the relation between concentration of o-H, and
the relaxation time of H, as shown in Fig. 1.5. Now we just add the PHYDES data
points into Fig. 1.5, as shown in Fig. 4.10. The conversion of aging time of PHYDES
data is done by taking account into the concentration of o-H,. For each condition,
there is only one point and there is no same condition with IPN Orsay data. It
is difficult to say anything of the result. Up to now, the results are reasonable;
at least, higher magnetic field or lower temperature causes longer relaxation time.
In the future, PHYDES will get more data points to study the relation between
concentration of o-Hy and the relaxation time of H.
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Figure 4.10: Add the PHYDES data points into IPN Orsay data. The conversion of aging time of
PHYDES data is done by taking account into the concentration of o-Hs. Up to now the results
are reasonable. The higher magnetic field or lower temperature causes longer relaxation time.

4.4.2 Lower Polarization

The polarization degrees measured are much lower than those expected from the
thermal equilibrium state of the aging condition.

Bad Linearity of the NMR Signal Height

Non-linear relation between the NMR signal height and the polarization degree is
considered to be a main source of the low polarization degree. We assumed the
linear relation between the polarization degree and the area of the NMR spectra,
and the polarization degree was obtained as about Py = 41% and Pp = 13%.
Since the polarization degree expected by the aging process is about Py = 85%
and Pp = 25%, the polarization obtained is much smaller than the expectation. We
think that bad linearity of the NMR signal height might cause the small polarization
degree and actual polarization degree should be higher than 41%.

Since LEGS collaboration, which also developed the polarized HD target, ob-
tained a polarization degree of about 60%, we expect that we can also achieve at
least the same polarization degree after some improvements. We are improving the
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NMR system to correctly measure the polarization now [23].

Improvement of Thermal Conduction

That the temperature of the HD target stored in the cell might not be low enough
will generate kapitza resistance between the Al wires and the copper or by contact
between the lead cable and the outer shield [24]. We are going to make a new target
cell with high purity Al wires.

And also we are developing the single crystal HD target. Single crystal of HD have
a structure in which the hexagonal para-hydrogen layers are banked up. The thermal
conductivity along the layer is much better than that of polycrystal HD.When the
direction of heat conduction from HD to cold stage align along the layer of single
crystal HD, we can get good thermal conductivity.

4.4.3 NMR Measurement
Frequency Sweeping or Magnetic Field Sweeping

As discussed in section 2.3.2, the cancellation circuit only can cancel signal with
selected frequency; therefore during the NMR measurement, the frequency sweeping
is out of the question. On the other hand, the whole NMR circuit is related to
frequency. Even cancellation circuit is not employed, the frequency sweeping will
produce unexpected noise.

Nevertheless, the magnetic field sweeping will generate heat. Since the gyromag-
netic ratio of H is about seven times of gyromagnetic ratio of D. If the Larmor
frequency is fixed, the magnetic field for D NMR measurement is about seven times
of the magnetic field for H NMR measurement. In case of PHYDESO1, the mag-
netic field for D NMR measurement is about 7T and the magnetic field for H NMR
measurement is about 1T. There are three shortcomings of magnetic field sweeping:

1: For sweeping magnetic field, one need to break superconductor-state of magnet,
and turn the magnet to drive-state. It waste a lot of liquid helium.

2: If both polarization of D and H are measured, the magnetic field sweep from
1T to 7T will generate a lot of heat and waste a lot of liquid helium.

3: The significant change of magnetic field, makes the polarization of HD unstable.

The shortcoming 1 can not be avoided if the magnetic field sweeping is selected.
But the shortcoming 2 and 3 can be avoided easily by designing a new cancellation
circuit. If we separate the cancellation circuits of H and D, the significant change
of magnetic field can be avoided. We are working on this subject now.

4.4.4 Improvement of D Polarization

Forbidden Adiabatic Fast Passage (FAFP) and Saturated Forbidden Transition (SFT)

The Forbidden Adiabatic Fast Passage (FAFP) and Saturated Forbidden Transition
(SET) are well known methods to reverse nuclear magnetization of a material [16,
17, 12]. Omne can use an RF transition between H and D to exchange spin. This
transition is forbidden in the same molecule, but it is possible between H and D.
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The difference between FAFP and SF'T is the RF power. The SFT using the small
RF power to exchange spin.

The Fig. 4.11 shows the time line of SFP from LEGS group [25]. When the
concentration of o-Hj is still high, the relaxation of H from HD is short. One can
increase the polarization of H fast. Once the polarization of H high enough, one
can do the SFP to exchange spin. In SF'T, the H polarization decrease to same as
the D polarization. To take advantage of the still high concentration of o-Hy (still
short relaxation time of H), one can do the second SFP. After the second SFT, the
relaxation time of H may be not long enough to do SF'T again. Then, one can just
start aging, and finally HD target with the both high polarization of H and D. The
polarizations of H and D are independent. If polarization of H is the focus, the SE'T
can be skipped with the aging only. If polarization of D is what is desired, the aging
can be skipped with the SF'T only.

However, to use FAFP or SFT, there are some difficulty for PHYDES now:

1: The concentration of o-Hs can not be handled easily now.

2: The concentration of p-Dy could decrease the relaxation time of D. If one wants
to keep the D polarization after FAFP, the concentration of p-Ds should be very
low. The concentration of p-Ds can not be handled easily now.

3: The amount of heat depends on the amounts of HD and RF power. If the RF
power is not high enough, the FAFP efficiency will be bad. In case of 1 mole
HD in LEGS group, if they use enough RF power to do FAFP, it generates too
much heat, and keeping temperature will be difficult. So that they select the
SFT [26].

4: The relation between concentration of o-Hs and the relaxation time of H is not
well known enough; therefore it is difficult to select the best timing to do FAFP.

Now we are developing the new distillator to improve purification. A good dis-
tillator can help us to control the concentration of o-Hy and p-Dy more easily.

About the heat problem, if we are in this situation, we can just use the Saturated
Forbidden Transition (SFT). The SFT uses the small RF power to exchange spin.

The work of PHYDESO1 helps us to study more about the relation between
concentration of o-Hy and the relaxation time of H. In the future, the new HD
target will provide us more information about the relation. All of problems could
be solved with more study and preparation, there is no doubt that improvement of
D polarization is expected in our next step.

4.4.5 From Success of Polarized HD Target to Using the Polarized HD
Target in LEPS Experiment

Even the production of polarized HD target succeeded, before we can start physics
experiments using the polarized HD target at SPring-8/LEPS, there are still many
subjects to work on:

1: The HD target system can be installed in the LEPS experiment hutch.

2: The HD target can be safely transferred from RCNP to SPring-8/LEPS.
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Figure 4.11: The time line of SFT from LEPS group [25]. C{! is the concentration of o-Hy. In
the bottom figure, the H and D polarization are shown as the solid and the dotted curves.
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3: The polarization of the HD target can be kept when the photon beams of ~1
M~’s/s hit the target.

4: Trigger rate for data taking is acceptable.

We planed to carry out an experiment for 10 days. In the experiment, the per-
formance of the polarized HD target will be checked. Since the relaxation time is

expected to be long (more than 100 days after 3 months aging), at least 10 days is
needed for proper measurement. [23]
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4.5 Summary

The polarized Hydrogen-Deuteride (HD) target is developed mainly for the study
of ¢ meson photoproduction on the proton and neutron. Using the polarized target,
one can measure double polarization asymmetries to study ss-content in the nucleon.

We produced a polarized HD target for the first time in 2008. After the aging time
of 53 days at 17 Tesla and at 14 mK, the polarization degree (P) and the relaxation
time (7}) of the hydrogen (H) and deuterium (D) in the HD were measured by using
the NMR method as shown in the Table.

After 53 days aging Pg Pp
41.4+3.1% 13.1+£1.9%
Ty of H Ty of D Staying time

IBC (0.3K, 1.08T) 2546[22]+380 1741£167.6 about 3 months
SC (1.2K, 1.08T) 276.6+22.9 302.6+28.6 3 hours
TC (4.2K, 0.15T) 147.3+3.8 47.8£5.5 0.5 hours

Table 4.4: The HD target staying time and relaxation time in each refrigerator. The unit of 73 is
hour. The T} of H in IBC condition is cited from Ref [22].

The polarization degrees measured are much lower than those expected from the
thermal equilibrium state of the aging condition. Non-linear relation between the
NMR signal height and the polarization degree is considered to be the main source
of the low polarization degree. The relaxation time in the SC and TC condition are
found to be long enough for the need of staying time during the transportation of the
HD target. The relaxation time in the IBC condition is also long enough to produce
the other new polarized HD target for replacement in continuous experiments.

We plan to start production of HD and move it to SPring-8/LEPS and carry out
a performance check by using circularly polarized photon beams in 2010.
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Summary

A polarized Hydrogen-Deuteride (HD) target has been developed mainly for the
study of ¢ meson photoproduction on the proton and neutron. Using the polarized
target, one can measure double polarization asymmetries to study ss-content in the
nucleon.

We produced a polarized HD target for the first time in 2008. The reference data
of H (B=1T, T=4.2K) and D (B=7T, T=4.2K) at thermal equilibrium state were
measured. The T} was obtained by fitting the function, A(t) = A(0)exp(—t/T}).
After the aging time of 53 days at 17 Tesla and at 14 mK, the polarization degree
(P) and the relaxation time (7}) of the hydrogen (H) and deuterium (D) in the HD
were measured.

The polarization degrees measured are much lower than those expected from the
thermal equilibrium state of the aging condition. Non-linear relation between the
NMR signal height and the polarization degree is considered to be the main source
of the low polarization degree.

The relaxation time in the SC and TC condition are found to be long enough for
the need of staying time during the transportation of the HD target. The relaxation
time in the IBC condition is also long enough to produce the other new polarized HD
target for replacement in continuous experiments. The relaxation times of IBC are
long enough for loss of polarization during experiment of ¢ meson photoproduction.

We planed to start production of HD and move it to SPring-8/LEPS and carry
out an experiment in 2010. In the experiment, the performance of the polarized HD
target will be checked.
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Appendix A

Distortion of NMR Signals

The smallest width of the NMR shape can be estimated from the uncertainty prin-
ciple, as shown in the Eq. A.1 and Eq. A.2. Where the § E means the uncertainty
of energy, and the dw means the uncertainty of frequency.

SE-7=h (A1)
dw = o1 1 (A.2)
h T

In this case, the shape of NMR signal should be a Gaussian shape. But we
can find that there is distortion of the NMR signal, especially for the D signal.
About distortion of NMR signal, one has to take three important circumstances
into account [27]:

e 1: The uniformity of the line width.
e 2: The non-uniformity of the local magnetic field in a superconductor.

e 3: The specific features of the penetration of an ac microwave magnetic field
into a superconductor.

The most likely explanation of the distortion of NMR signals in our experiment
is the non-uniformity of the local magnetic field in a superconductor. The 7 axis
profile map is plot in the manual of superconductor. Fig A.1 shows the definition
of Z axis.

We reproduced D and H NMR signals shapes by the simulation. This simulation
consider only the non-uniformity of the local magnetic field in a superconductor
on 7 axis. The non-uniformity of x and y axis are not taken into account. This
appendix wants to show reader that the non-uniformity of the local magnetic field
is strong enough to distort the NMR shape. The most important point is, “if the
NMR signal is distorted by the non-uniformity of the local magnetic field, the signal
area won’t be changed.”.

At the first, the non-uniformity of the local magnetic field fit by Eq. A.3 and the
result is shown in Fig. A.2.

Breal = Bcenter . (P433'4 + ]33373 + P2£172 + Plx + PO) (A3)

59



60 APPENDIX A. DISTORTION OF NMR SIGNALS

|
—
-—
—
-—
—
-—
center of Superconductor —
Z=0 mm —
—
Z
—
-—
—
-—
—
-—
—
[ -
—
Figure A.1: Definition of z axis in superconductor.
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Figure A.2: The fitting of non-uniformity of the local magnetic field. If the position of cell center
is -14 cm, the yellow part is the cell position.The maximum of uniformity of magnetic field, AB,
is proportioned the Beenter-



A.1. SIMPLE SIMULATION 61

When we measure the H signal, we set the superconductor to B=1.1366T. At this
moment, the Beepie,=1.1366T. When we measure the D signal, the B, =7.4044T.
The maximum of uniformity of magnetic field, AB, is proportioned the Beepter-
Therefor the AB of D is larger than the AB of H. This is the reason why distortion
of D is more significant than that of H.

A.1 Simple simulation

Assume that if there is no non-uniformity of the local magnetic field, the NMR shape
is a Lorentzian shape. In case of a simple simulation, we set it to be a Gaussian
shape, as shown in the top figure in Fig. A.3 and Fig A.5. With taking the non-
uniformity of the local magnetic field into account, the D and H signals are simulated
by Eq. A.3. The simulations are shown in the bottom figure of Fig A.3 and Fig A.5.
The real signals of D and H are shown in Fig A.4 and Fig A.6. In those plots, the
signal areas are normalized to be same as the simulation. One can compare the
simulation with the real signal. They are not completely same, but the shape and
the width is similar.
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Figure A.3: Assume that if there is no non-uniformity of the local magnetic field, the D NMR
shape is a Lorentzian shape. In case of a simple simulation, we set it to be a Gaussian shape, as
shown in the top figure. With taking the non-uniformity of the local magnetic field into account,
the D signal is simulated by Eq. A.3. The simulation is shown bottom figure.
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Figure A.4: The real D signal which got from measurement. The signal area is normalized to be
same as the simulation.
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Figure A.5: Assume that if there is no non-uniformity of the local magnetic field, the H NMR
shape is a Lorentzian shape. In case of a simple simulation, we set it to be a Gaussian shape, as

shown in the top figure. With taking the non-uniformity of the local magnetic field into account,
the H signal is simulated by Eq. A.3. The simulation is shown bottom figure.
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Figure A.6: The real H signal which got from measurement. The signal area is normalized to be
same as the simulation.
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A.2 Advanced Simulation

There are some questionable points in the simple simulation. First, the target cell
length of PHYDESO1 may not 50 mm. In normal case, one mole HD is put in empty
cell; if the HD filled tight, the cell length is 50 mm. In case of PHYDESO1, there is
only 0.68 mole HD; therefore the cell length may only 34mm if the HD filled tight.
It is also possible that the HD did not filled tight, so that the possible cell length is
from 34 mm to 80 mm, where the 80 mm the the length of Al wires. Second, the cell
position of -14 cm may be not the best choice. There are a new simulation which
decide the cell position and cell length be fitting the simulation result with the real
data, as shown in Fig. A.7. This result shows the most likely cell position around
-14 cm and cell length around 46 mm. But the simulation result is not very fit to
the real signal; therefore the chi-square is large. The “most likely” result is not so
trusty.

S 0.035 E— X’ ’ = x?/ ndf 3982 /87
£ 003E ;i: nomalization3.524e-05 —1.726e-07
@ 0.025 == CellPosition -13.99 —0.008861
8 0.02E i\? CellSize 46.92 —9.607¢-06
S 0.015E : |,
Z 001E =\
2 0.005E- . - -
E S inhis s

7.4 7.402 7.404 7.406 7.408 7.41

B field (T)

Figure A.7: This simulation decide the cell position and cell length be fitting the simulation result
with the real data

A.3 Conclusion

Just reminding reader again, this simulation is rather naive, because it consider
only the non-uniformity of the local magnetic field in a superconductor on Z axis.
There are still other causes of the distortion, such as the non-uniformity of the
local magnetic field in a superconductor on X and Y axis. But this study can
help us to understand that even the non-uniformity of the local magnetic field is
small (~ 1073Tesla), it can modify the NMR signal significantly. Fortunately, any
distortion from non-uniformity of the magnetic field cannot change the signal area.
The signal area is still proportional to the polarization.



Appendix B

Detail of Relaxation Time Fitting

The following pictures show an estimation of the area of D signal at IBC environment
with the histogram method. The current-increasing data and current-decreasing
data are analyzed, respectively.
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Figure B.1: Get the area of D signal at IBC environment with the histogram method. (current-

increasing, time = 18 hours.)
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Figure B.2: Get the area of D signal at IBC environment with the histogram method. (current-

decreasing, time = 18 hours.)
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Figure B.3: Get the area of D signal at IBC environment with the histogram method. (current-
increasing, time = 69 hours.)
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Figure B.4: Get the area of D signal at IBC environment with the histogram method. (current-

decreasing, time = 69 hours.)



70 APPENDIX B. DETAIL OF RELAXATION TIME FITTING

0.4
0.3
0.2
0.1
-0
-0.1
-0.2
-0.3
-0.4

X - | hour_D_increase_266.dat

output voltage (mV)

¥

74 7402 7404 7406 7408 741
B field (T)

0.7
0.6
0.5
0.4
0.3
0.2
0.1

X 2 I ndf 110.1/108
Back -0.0001409+ 0.001154
BackShape 1.901e-05 + 0.0001559

output voltage (mV)

7.4 7.402 7.404 7.406 7.408 7.41
B field (T)

Green range:7.4014~7.4059

0.7
0.6
0.5
0.4
0.3
0.2
0.1

Integral by Green range:3.915e-04 + 2.176e-06
Integral by histgram:3.915e-04 + 2.332e-06

output voltage (mV)

74 7401 7402 7403 7.404 7.405 7.406 7.407 7.408 7.409
B field (T)

Figure B.5: Get the area of D signal at IBC environment with the histogram method. (current-
increasing, time = 266 hours.)
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Figure B.6: Get the area of D signal at IBC environment with the histogram method. (current-

decreasing, time = 266 hours.)
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Figure B.7: Get the area of D signal at IBC environment with the histogram method. (current-
increasing, time = 333 hours.)
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Figure B.8: Get the area of D signal at IBC environment with the histogram method. (current-

decreasing, time = 333 hours.)
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The following pictures show estimation of the area of D signal at IBC environment
with the model method. The current-increasing data and current-decreasing data
are analyzed, respectively.
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Figure B.9: Get the area of D signal at IBC environment with the model method. (current-
increasing, time = 18 hours.)



5

< 0-55_ ! - hour_D_decrease_18.dat
Z 04F X [roure. =
~ 0.3EF .
> 0.2E
g 01E C N
S 0F
; -0.1;— \f\ .
o 0.2 %
503
© '04:_ . . 1 . . . 1 . . . |I|I . . . 1 . . . 1 . . . 1
7.4 7.402 7.404 7.406 7.408 7.41
B field (T)
< 0.8%— X” x2 / ndf 1.575e-08 / 197
g 0.7 Back -0.000171+ 0.0008758
o 0.6E BackShape  2.309e-05+ 0.0001183
2 0.5 normalization 8.712 £ 0.003979
= 04F
S 03E
5 0.2
S 0.1
O 05— 1 1 1 1 1 1
7.4 7.402 7.404 7.406 7.408 7.41
B field (T)
Green range:0.0000~0.0000

% 8? §_ Integral by Green range:4.423e-04 + 3.165e-07
o = g Integral by histgram:4.356e-04 + 5.779e-07
g 0.6
S 0.5
E 0.4
3 03

0.2

0.1

OE—/——

7.4 74|01 74:02 74|03 74:94“(7)4:05 74IO6 74|07 74|08 .7..4|0.9
B field (T,

Figure B.10: Get the area of D signal at IBC environment with the model method. (current-

decreasing, time = 18 hours.)
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Figure B.11: Get the area of D signal at IBC environment with the model method. (current-

increasing, time = 69 hours.)
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Figure B.12: Get the area of D signal at IBC environment with the model method. (current-

decreasing, time = 69 hours.)
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Figure B.13: Get the area of D signal at IBC environment with the model method. (current-
increasing, time = 266 hours.)
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Figure B.14: Get the area of D signal at IBC environment with the model method. (current-
decreasing, time = 266 hours.)
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Figure B.15: Get the area of D signal at IBC environment with the model method. (current-

increasing, time = 333 hours.)
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Figure B.16: Get the area of D signal at IBC environment with the model method. (current-

decreasing, time = 333 hours.)
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The following pictures show estimation of the area of D signal at SC environment
with the histogram method. The current-increasing data and current-decreasing
data are analyzed, respectively.
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Figure B.17: Get the area of D signal at SC environment with the histogram method. (current-
increasing, time = 22 hours.)
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Figure B.18: Get the area of D signal at SC environment with the histogram method. (current-
decreasing, time = 22 hours.)
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Figure B.19: Get the area of D signal at SC environment with the histogram method. (current-

increasing, time = 50 hours.)
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Figure B.20: Get the area of D signal at SC environment with the histogram method. (current-

decreasing, time = 50 hours.)
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Figure B.21: Get the area of D signal at SC environment with the histogram method. (current-

increasing, time = 68 hours.)
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Figure B.22: Get the area of D signal at SC environment with the histogram method. (current-

decreasing, time = 68 hours.)
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The following pictures show estimation of the area of D signal at SC environment
with the model method. The current-increasing data and current-decreasing data
are analyzed, respectively.
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Figure B.23: Get the area of D signal at SC environment with the model method. (current-
increasing, time = 22 hours.)
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Figure B.24: Get the area of D signal at SC environment with the model method. (current-

decreasing, time = 22 hours.)
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Figure B.25: Get the area of D signal at SC environment with the model method. (current-

increasing, time = 50 hours.)
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Figure B.26: Get the area of D signal at SC environment with the model method. (current-

decreasing, time = 50 hours.)
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Figure B.27: Get the area of D signal at SC environment with the model method. (current-

increasing, time = 68 hours.)
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Figure B.28: Get the area of D signal at SC environment with the model method. (current-

decreasing, time = 68 hours.)
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The following pictures show estimation of the area of D signal at TC environment
with the histogram method. The current-increasing data and current-decreasing
data are analyzed, respectively.
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Figure B.29: Get the area of D signal at TC environment with the histogram method. (current-
increasing, time = 7 hours.)
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Figure B.30: Get the area of D signal at TC environment with the histogram method. (current-
decreasing, time = 7 hours.)
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Figure B.31: Get the area of D signal at TC environment with the histogram method. (current-

increasing, time = 19 hours.)
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Figure B.32: Get the area of D signal at TC environment with the histogram method. (current-

decreasing, time = 19 hours.)
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Figure B.33: Get the area of D signal at TC environment with the histogram method. (current-
increasing, time = 27 hours.)
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Figure B.34: Get the area of D signal at TC environment with the histogram method. (current-
decreasing, time = 27 hours.)



100 APPENDIX B. DETAIL OF RELAXATION TIME FITTING

S o001

£ =

© 0.005

o -

< -

° (0]

> -

5-0.005

s -

g -0'01:_ 1 1 1 1 1 1
7.4 7.402 7.404 7.406 7.408 7.41

B field (T)
o~ — 1
S = x2 I ndf 110/108
0015 X

E - Back 0.0001949+ 0.0014

% 0.0l:— BackShape -2.632e-05+ 0.000189

2 0.005 =

a o

3 E

©.0.005= ! . . . . .
7.4 7.402 7.404 7.406 7.408 7.41

B field (T)
Green range:7.4014~7.4059

g 0.014 Integral by Green range:9.512e-06 + 9.375e-07

— 0.012 Integral by histgram:9.512e-06 + 1.362e-06

S 001

g 0.008

S 0.006

— 0.004

2 0.002

5 0

©-0.002

74 74|01 74:02 74|03 74:04 74|05 74IO6 74IO7 74|08 .7..4|0.9
B field (T)
Figure B.35: Get the area of D signal at TC environment with the histogram method. (current-
increasing, time = 46 hours.)
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Figure B.36: Get the area of D signal at TC environment with the histogram method. (current-

decreasing, time = 46 hours.)
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The following pictures show estimation of the area of D signal at TC environment
with the model method. The current-increasing data and current-decreasing data
are analyzed, respectively.
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Figure B.37: Get the area of D signal at TC environment with the model method. (current-
increasing, time = 7 hours.)
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Figure B.38: Get the area of D signal at TC environment with the model method.
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Figure B.39: Get the area of D signal at TC environment with the model method. (current-
increasing, time = 19 hours.)
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Figure B.40: Get the area of D signal at TC environment with the model method.
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Figure B.41: Get the area of D signal at TC environment with the model method. (current-
increasing, time = 27 hours.)
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Figure B.42: Get the area of D signal at TC environment with the model method. (current-
decreasing, time = 27 hours.)
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Figure B.43: Get the area of D signal at TC environment with the model method. (current-
increasing, time = 46 hours.)
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Figure B.44: Get the area of D signal at TC environment with the model method. (current-

decreasing, time = 46 hours.)
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The following pictures show estimation of the area of H signal at SC environment
with the histogram method. The current-increasing data and current-decreasing
data are analyzed, respectively.
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Figure B.45: Get the area of H signal at SC environment with the histogram method. (current-
increasing, time = 0 hours.)
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Figure B.46: Get the area of H signal at SC environment with the histogram method. (current-

decreasing, time = 0 hours.)



112 APPENDIX B. DETAIL OF RELAXATION TIME FITTING

< E x ] | H_1500_increase_4.dat
E 4 "
% ? ;_ . k
s OF ~~ ]
§' 2 = Hi
3 -4 L
1 " 1 " 1 " " " " 1 " " " " 1 "
1.125 1.13 1.135 1.14 1.145
B field (T)

< o = x’ ! x2/ ndf 201/198
é - Back -4.447e-06 + 0.00989
% 6 BackShape3.839e-06 + 0.008701
S 4E
g %F
g 0 :_I 1 1 1 1

1.125 1.13 1.135 1.14 1.145

B field (T)
Green range:1.1316~1.1416

’>\ g ; Integral by Green range:4.130e-03 £ 1.234e-05
é 7 §_ Integral by histgram:4.130e-03 + 1.239e-05
() E
> 6E
£ 5E
S 4E
5 3
g 2
3 1E
° 0B

1126 113 1132 1134 1136 1138 114 1142 1144 1.146
B field (T)

Figure B.47: Get the area of H signal at SC environment with the histogram method. (current-

increasing, time = 4 hours.)
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Figure B.48: Get the area of H signal at SC environment with the histogram method. (current-

decreasing, time = 4 hours.)
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Figure B.49: Get the area of H signal at SC environment with the histogram method. (current-

increasing, time = 21 hours.)
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Figure B.50: Get the area of H signal at SC environment with the histogram method. (current-

decreasing, time = 21 hours.)
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Figure B.51: Get the area of H signal at SC environment with the histogram method. (current-

increasing, time = 47 hours.)
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Figure B.52: Get the area of H signal at SC environment with the histogram method. (current-

decreasing, time = 47 hours.)
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The following pictures show estimation of the area of H signal at SC environment
with the model method. The current-increasing data and current-decreasing data
are analyzed, respectively.
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Figure B.53: Get the area of H signal at SC environment with the model method. (current-
increasing, time = 0 hours.)
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Figure B.54: Get the area of H signal at SC environment with the model method. (current-
decreasing, time = 0 hours.)
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Figure B.55: Get the area of H signal at SC environment with the model method. (current-

increasing, time = 4 hours.)
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Figure B.56: Get the area of H signal at SC environment with the model method. (current-
decreasing, time = 4 hours.)
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Figure B.57: Get the area of H signal at SC environment with the model method. (current-
increasing, time = 21 hours.)



Figure B.58: Get the area of H signal at SC environment with the model method.

decreasing, time = 21 hours.)
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Figure B.59: Get the area of H signal at SC environment with the model method. (current-
increasing, time = 47 hours.)



Figure B.60: Get the area of H signal at SC environment with the model method.

decreasing, time = 47 hours.)
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The following pictures show estimation of the area of H signal at TC environment
with the histogram method. The current-increasing data and current-decreasing
data are analyzed, respectively.
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Figure B.61: Get the area of H signal at TC environment with the histogram method. (current-
increasing, time = 2 hours.)
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Figure B.62: Get the area of H signal at TC environment with the histogram method. (current-

decreasing, time = 2 hours.)
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Figure B.63: Get the area of H signal at TC environment with the histogram method. (current-

increasing, time = 20 hours.)
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Figure B.64: Get the area of H signal at TC environment with the histogram method. (current-

decreasing, time = 20 hours.)
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Figure B.65: Get the area of H signal at TC environment with the histogram method. (current-

increasing, time = 47 hours.)
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Figure B.66: Get the area of H signal at TC environment with the histogram method. (current-

decreasing, time = 47 hours.)
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The following pictures show estimation of the area of D signal at TC environment
with the model method. The current-increasing data and current-decreasing data
are analyzed, respectively.
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Figure B.67: Get the area of H signal at TC environment with the model method. (current-
increasing, time = 2 hours.)
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Figure B.68: Get the area of H signal at TC environment with the model method. (current-
decreasing, time = 2 hours.)
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Figure B.69: Get the area of H signal at TC environment with the model method. (current-
increasing, time = 20 hours.)
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Figure B.70: Get the area of H signal at TC environment with the model method.

decreasing, time = 20 hours.)
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Figure B.71: Get the area of H signal at TC environment with the model method. (current-
increasing, time = 47 hours.)
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Figure B.72: Get the area of H signal at TC environment with the model method.

decreasing, time = 47 hours.)

B field (T)

137

(current-



	致謝.pdf
	Final_20090714.pdf
	致謝.pdf
	Final_20090713_3.pdf
	grass英文封面.pdf
	National Kaohsiung Normal University
	Master’s Thesis

	空白頁.pdf
	高師圖書館授權書.pdf
	空白頁.pdf
	國家圖書館授權書.pdf
	空白頁.pdf
	簽名書.pdf
	空白頁.pdf
	致謝.pdf
	空白頁.pdf
	中文摘要20090629.pdf
	GrassThesis20090707.pdf




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice




